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Note: (i) There arc in all 30 questions in this question paper. All questions are compulsory.
(i} Marks allocated to every question are indicated against it.
(iii} Question No. 1 1s multiple choice type question. Question Nos. 2 10 6 are of one mark cach.
4 Question Nos. 7 to 15 arc of two marks cach. Question Nos. 16 to 24 are of three marks
each. Qucstion Nos, 25 to 30 are of four marks cach.

L @ @ uds gvs @ SR H 9 Qee R €1 98 fRAdea sgdl -y
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Four options arc given in cach part of question. Write the correct answer in your answer book —

@) T TR @ IHAE A § -
The chemical tormula of lime stone is -
| (i) CaCoO, (i) Ca0 (i) Ca(OH) (1v) Ca(OH},

PTe frergst el fFeny &) ol X odl 8, $9@T pH Wi gul g1 -
i
A solution turns bluc litmus red, its pt s likely 10 be —
(i 1 (ii) 8 (iti) 9 (iv) 10
() o= Sngem w1 w8 -

The function of Xvlem in plants is -

() S FT a6T (i) ¥TS @1 g+
Transport of water Iransport of food
(iiil) 3T o @7 a8 (iv) SeRIoTT &1 ges
! Transport of amino acid Transport of oxygen
f
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(a) fga a1 Sca=1 o @ g & sea & -

The device used for generating electric current is called —

(i)y oifs (i) Tooaiey (iii) THex (iv) ATex
Generator Galvanometer Ammeter Motor

(@) fodit guet o & wrEw g 50 WA &) gwa awar @ gy —

The focal length of a convex lens is 50 cm. What will be its power -

(i) 1D () 2D (i) 5D (iv) 1.5D
(@) Pl # X @ Sa-amr st 9 o1 Seevor 98 & -

Which of the following is not an exampie of a biomass energy source

(i) T (i) TER T (i) TFE Hat  (iv) sraen
Wood Gobar gas Nuclear energy Coal

S UIg BT AW T W fafd O amrn a9 W ST aeRn A o ondy @

Write the name and symbol of the metal that exists in liquid state in normal tempcrature.

vafe ) qur Swaferlt g &1 tE-ve Serewn ko

Write one example each of unisexual and bisexual flower.

1V foqari & <1 Rgsll & 93 1 Comw & o o & oy ord s oan & 2

How much work is done in moving a charge of 1 C across two points having potential difference of
- U T A qdgd O A w1 snafifa aen el g9 @)

Name the mirror that can give an enlarged and erect image of an object.

SIS IR B U @ AT S W7 YrgE e SERETE A & 2

Which chemical is mainly considered responsible for the depletion of Ozone layer 7

HIH B JAIST Ud af Wi @ <-<1 Wy Ui adigd |

Give two important uses of each washing soda and baking soda.

8 @ At @ An1 UGl @ amuR W FiEr D@ @7 Amewe @i -
On the basis of nomenclature of carbon compounds, name the following compounds -
H H H H
P |
(®) H—C--C—C—C—0—H @) H—C—C=C--H
| | | |
i i i tl
H H I O H
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State two differences between artery and vein.
3@ SIS &7 Amifea forsr g gy 2

Draw labelled diagram of neuron.

. WERINE Ud SEHID Gl @) T gghy § 9 R 2 7 2

What is the difference between modes of reproduction in unicellular and multicellular organism ?

_ﬁéﬁqanmzzuva%ﬁgamaﬁs.OAﬁ@gawﬁﬁ%lnﬁamz‘aﬂéﬁmaﬁf

WRafera SR | 2
An electric motor takes 5.0 A of electric current from a 220 V line. Determine the energy consumed in

2 hours by motor.

. fog P fbw Rigrr uv @1d awar € 7 e awr & @ Wit @& am feRad | 2

Whatis the principle of working of electric generator ? Name two sources of direct current.

U6 YA UVl gIRT S0 ANTaeH 2 € | S YT &7 997 Ay & 0 ?)

The magnification produced by a concave mirror is +2. What is the meaning of this statement ?

B @ U T Sl BT GRETT I BRAT ARy P B T BRer i | 2

Why should we conserve forests and wild-life ? Write any two reasons.

. affranst @ fore wwpfera e wdeo faRay — 1+141 =3

Wirite the balanced chemical equation for the following reactions —
(@) Zn+AgNO, —— Zn(NO,), + Ag
(@ Al+CuCl, — AICI, + Cu

(M BaCl, + K,SO, —— BaSO, + KCl

http://www.ukboardonline.com

ffiRea ol &1 goagifre famarg (@ §) fafas - [+1+1 =3
Write electronic configuration (in shells) of following elements —

(F) F(9) (&) P(15) () Ca(20)

8 v qumEl @ ok UR ergel oF srmgell ¥ iR AR 3

Differentiate between metal and non-metal on the basis of their chemical properties.
31AT (OR)
(7) w9 werd @ A qaTgd o F@R W frar eve fkere gof gemr ¥ 7 1

Name the substance which on treatment with chlorine yields bleaching powder.

Fsmwu [3] [PT.O.
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IHTHT IS 47 &I & ° S IHULH! RSS! & IgTEN0l S ifug |

What are amphoteric oxides ? Give two examples of amphoteric oxides.

wE ARdss & 19 g 9E @1 Amlcord BIfg 920 TE &1 bl forRag |

Mention three main parts of Human Brain and give the function of each.

= v wfdrg fewol) faRad - 1L

Write short notes on following —

()

- (@)

@)

qeel (@) @f® g
Budding Vegetative propagation
qiey g gl 7

What are plant hormones ?

Te H ERE WHad $d B 8 7

How does chemical co-ordination take place in animals ?

e ufRgy # @ #ifw — 15Q b

For the given circuit diagram, calculate —

(®)

(@)

- (@)

(@)

(®)

@)

U & B AR

Total resistance of the circuit )

ufuy H yaifed & uxI
= ]t ——(»

Total current flowing in the circuit 30V

S ¥ad wrE @ feeun [ s ¥ el @ O g a9 A Rafta 8 s
ety |

When a white ray of light passes through a prism, it is dispersed in seven colours. Write
reason.

e & w5g g @ar @i g s g ?

Why does the sun appear reddish in the early morning ?

AT (OR)
AT B GHST & 9 aar sfdurg @ ?

What is meant by power of accommodation of the eye ?
feset warg @ g ?
What is Tyndall effect ?

233 (HWL) [ 4]

http://www.ukboardonline.com

wod duluopIeOo@ N Mmm//:diy



wod duluopIeo@ N Mmm//:diy

I e LT T puae pu———— 2

http://www.ukboardonline.com

Fol @ TR Gral W 39 @ ey £ ? e diford |

What do you mean by conventional sources of energy ? Clarily.

Lad

QAT (OR)
uRa= ¥ 39 91 WRR § ? 399 7@ ued! @1 gviH #ioig |

What do you meun by Ecosystem ? Describe its major components.

T A ST (Sael e e IRy — [+1+1+] =4
How will you obtain (Give chemical equation only) -
(@) T 1 iz e (@) T o § TR
Ethanoic acid from Ethanol Ester from Ethanoic acid
(m) voEte & efi (&) Tvew 9§ veEid

Ethene from Ethanol Ethanol from Ester

e et Wil g Heells B e WRof #F Tl Y aven @ ga @ 4
“Compare the arrangement of elements in Mendeleev’s periodic table and the Modern periodic table.

312@T (OR)

).
(@) Wew o s s & A g # 2 2

What are the limitations of Newland’s Law of Octaves ?

Clarify the difference between group and period in reference to periodic table.

wod duluopIeOo@ N Mmm//:diy
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Draw a diagram of human body and label following endocrine glands in it —

(i) syt (i)  sr=arery

Thyroid gland Pancreas
(i) IR TR (v) oifrgas Tf
Pituitary gland Adrenal gland
3ITAT (OR)

W [W &1 arjded @ie &l 9w o gran sad frefeRaa vt @) gefzd -

Draw a neat and clean diagram of longitudinal section of a flower and label following parts in it -

() afcfer (i) oreerg
Style Ovary
(i) e (iv) wEIee
Stamen Calyx
(HWL) [ 5] [ P.T.O.

http://www.ukboardonline.com



wod duluopIeO@ N Mmm//:diy

http://www.ukboardonline.com

28. g Aiew o1 Amifea s |ifed | gaa Rigra aun srdfdfd we #fg |

Draw the labelled diagram of an electric motor. Explain its principle and working.
34T (OR)

(@) frga aRuel aur =l # rm=aa: ST €9 9Tt < gRen Sut & s el
Name two safety measures commonly used in electric circuits and appliances.

(@) uf¥em @1 R ueifda F1E gl Fo 5l g g3 g IR 91 eiR Rsfn
g ar3 9 e @ g 2

A positively charged particle projected towards west 1s deflected towards north by

tield. What will be the direction of magnetic field ?

29, fIR Haad o B BIed X1 1S 21 13 @l o | fad i @ v S e g
<R 10 g0 wR fdfam & ? gfafdv @ gefd, nerR e s sma @
Aconcave lens has focal length of 15 cm. At what distance should the object from the lens be

that it forms an image at 10 ecm from the lens ? Find the nature, size and magnification ofi

30. dR @HR FT vl IRA R qUT IR IR S [SYANT & o™, 1 aur Sl
I |

Give structural diagram of solar cooker and mention the advantages, disadvantages and limi

using a solar cooker.

e e o ok kK R
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